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¢ Please check that this question paper contains 23 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 25 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
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(i) I8 FA-9F T 97§ [y 8- ®, @ KT/

(i) 9T % gl ST @ forg sifAard &

(iii)  FHTITT 1 I YT @ R T H G I Uk YT 5T HATE |
(iv) 141 397 & T 97T & I TP & T W ferEw |

General Instructions :

(i) This question paper contains three parts A, B and C.

(it)  Part A is compulsory for all candidates.

(iii) Candidates can attempt only one part of the remaining parts B and C.

(iv)  All parts of the questions should be attempted at one place.

HTT <k
(TSR WA qUT i o forg SEieR)
PART A
(Accounting for Partnership Firms and Companies)

1.  Ggadt gfayfd & €9 § o= o i & o aed § 2 1
What is meant by debentures issued as collateral security ?
2. 3T hl FEATTA Tefsh! o1 o 379 7 ? 1

What is meant by private placement of shares ?

3. U & AU AR TH WH T TR ¥ AN Al hl HAIM: 5: 6 : 7 % FAJUG H
fawfra st 9 | IR IS I T 5,00,000; T 6,00,000 T T 7,00,000
off | 3R < gcg <l <1 | BH 6T T 16,00,000 1 EAT(T hl TR T FHRISH
T qel & o ISf @ral # fohe s1gdTa § foRen Smwm 2 3g@ hiT | 1
A, T and R were partners in a firm sharing profits in the ratio of
5 : 6 : 7 respectively. Their capitals were ¥ 5,00,000; ¥ 6,00,000 and
T 7,00,000 respectively. State the ratio in which the goodwill of the firm
amounting to ¥ 16,00,000 will be adjusted in the capital accounts of A
and T in case of R’s death.
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At what rate will the interest be charged by the company in case of
calls-in-arrears according to Table A of the Companies Act, 1956 ?

5. T AC HIEGR g @Tld o T Sifirm o 9§ yae i gg aft o6,
form wffeufa o wd <t qeaent & &1 femar e 2 1

Under what circumstance will the premium for goodwill paid by the

incoming partner not be recorded in the books of accounts ?

6. 39 GHRi 1 A FATST S BH o THI oh THI S @Id H T 98 Hl R
BT &l <hl SITdl, <ifehd BH o THIIA o THI I IHehT fIshd Tomam ST 2
A PO GRS T I B R | 1

Name the asset that is not transferred to the debit side of Realisation

account, but brings certain amount of cash against its disposal at the
time of dissolution of the firm.

7.  HEGRI B I P PIAH S & G0 § ARiekl do@ HF 3 | offidr St us
HIEER &, < 1 i o5 36 sqaa™ &1 Ye=uA 1 fhan 2, 37 38 T 10,000
1 AT a9 e =1feu | s 98 dd9 9 bl STfEeRtl 8 2 SRl §dTsy | 1

The partnership deed is silent on payment of salary to partners. Amita, a

partner, claimed that since she managed the business, she should get a
monthly salary of ¥ 10,000. Is she entitled for the salary ? Give reason.

8. wm fafis 7 T 10 9% % 1,00,000, 6% FOTET I T 2 Ufd FOUT &
fiftem @ 1 31899, 2012 1 i fomn | i e stfiea gen | =S
H YTaH JoIeh foxfig a8 & 3t # foem o | ad 2012 - 13 & T
ATEYTh e gfafsear i | 3

Sargam Ltd. issued ¥ 1,00,000, 6% debentures of ¥ 10 each at a
premium ¥ 2 per debenture on 18t April, 2012. The issue was fully

subscribed. Interest will be paid at the end of each financial year. Pass

necessary journal entries for the year 2012 — 13.
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eI SH: T 22,00,000 AT T 5,60,000 A1 | ey fafy & wH 61 w0fd &
™ I TUMT HITVT A BT T HoATohA ITIATH 6 2% Iui % A h SR

fopam ST 2 1 3

A business earned an average profit of ¥ 8,00,000 during the last few

years. The normal rate of profits in the similar type of business is 10%.
The total value of assets and liabilities of the business were ¥ 22,00,000

and T 5,60,000 respectively. Calculate the value of goodwill of the firm by

super profit method if it is valued at 2% years’ purchase of super profits.

10. Hgal fafaee Sai o Fmiar 8 | e, S stfufem o JagmE 9t g« %
TTieRHl & Y807 o fose # 37cg=d "aeh & | 1 379, 2010 I, ST 5 T 100
Y% % 90,000, 10% ROGsl 1 fiea fman o | s9emt sed 109 Hiftem
fopam ST e | 31 WTE, 2012 W1, Gt wOTaET 1 wes K T e | g S
o [0 § a1 YguUl Bl B, 37 B 4 3Hb YA Fr=0r 6 fow we s
TerTfua femam |
RO o e shl AE9Ieh U= Sfosedi e | el grr sraeifed
qed ! 9ga i I | a8 7F o= w8 76 vt & ko ed 99
T 4 9H 99 B 3

Mehta Ltd. are manufacturers of shoes. The company is very particular

about the observation of the provisions of the Companies Act and SEBI
guidelines. On 1%' April, 2010, the company issued 90,000, 10%
debentures of ¥ 100 each. The debentures were redeemable at a premium
of 10%. On 31 March, 2012, all the debentures were redeemed. Since
the manufacturing of shoes results in air pollution, the company had
installed a plant for its effective control.

Pass necessary journal entries for the redemption of debentures. Also
identify the value observed by the company. It is assumed that the
company has adequate balance in Debenture Redemption Reserve

Account.
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St a2t o1 e, 2013 1 e feafa-faato fergar o

Terfa-feremor 31 7L, 2013

3 3

il
tC| 60,000 | Ths 14,000
T 40,000 | Thee 30,000
| 30,000 | GTER 22,000
[SECAE 30,000 | 9o 40,000
< fau 4,000 | &3 53,000
AT T 21,000 | A a7 26,000
1,85,000 1,85,000

I fafdr sl T A sTaeh wew foran den ffaRaa & foe weafa g

() Sl QT CAQTAT 1 JedTehd 36 TR B3 : Thd T 24,000; G
T 21,000; Y99 T 45,200; TIF T 50,000 AT TSR T 28,000 |

(i) T ! A T TR BT TAFTROT 3T F0T @I | foham @ |

JHcATR @1 AT T M ISt @1 dIR hiT | 4
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g““&g@;‘E Sarrpl éld Vﬂwiagcs;evr te e%:il?ctners sharmg pli\(b]t s in %ﬁe ItOnS
. 7e1y ollowmg was their Balance Sheet as at 315‘t March,
2013 :
Balance Sheet as at 315t March, 2013

Liabilities AmOURt | 4 sets Amount
Capitals :

Raman 60,000 | Cash 14,000

Ratan 40,000 | Stock 30,000

Rajan 30,000 | Debtors 22,000

Creditors 30,000 | Building 40,000

Bills Payable 4,000 | Plant 53,000

General Reserve 21,000 | Motor Van 26,000

1,85,000 1,85,000

On the above date Raman retired and following were agreed :

(1) The assets and liabilities were valued as

: Stock ¥ 24,000,

Debtors ¥ 21,000, Building ¥ 45,200, Plant ¥ 50,000 and

Creditors ¥ 28,000.

(11) Amount due to Raman will be transferred to Raman’s loan

account.

Prepare Revaluation Account and Raman’s Capital Account.

12. (%) TS IR G919 Th ®H H APGR & S hAYM: 3 : 2% Ig9d H @
famfod &td @ | 9 fos@ 1 T ¢ "EER k ®9 d WiEd w1 @ |
foor = wet O Tfle 7 3a fe=8 &1 1/4 9T 99 Heig 3 39 B
1/3 9T &1 W TR | Tfia, wsfia qen fos o U any-faamse s1qumd

=t oMt <ShifT |

(@) srfar aur gHiar ueh wH H AeigR 8 o hUS: 3 : 2 % U H oy
oo std 2@ | o Torfidn 1 T A |IERR % ®9 H 1/4 W % faQ
TR od & | AT qon gAar &1 = nw-fawsE e 2 1 8 |
3k TIWT 3TUTd <hl TUMT ST, |
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3 : 2 respectively. They admit Vijay as a new partner.
Rajeev surrenders 1/4 of his share and Sanjeev 1/3 of his share in
favour of Vijay. Calculate new profit sharing ratio of Rajeev,
Sanjeev and Vijay.

(b)  Anita and Sunita are partners in a firm sharing profits in the ratio
of 3 : 2 respectively. They admitted Vinita as a new partner for 1/4
share. The new profit sharing ratio between Anita and Sunita will

be 2 : 1. Calculate their sacrificing ratio.

o

13. = fafiee 7 @ fdftes 1 =Iad g3 =WaE™ T 1,50,000 s 911§ 563 foham
& gam = 10 T3AF * 1oooowmﬁﬁ T 2 Wifew ufd 3
friftra ek qem Y TR 1 Tehg B YA hieh fohdl TRIT | ATl T <FaTd
T ft o

AT — T 40,000; 9o — T 40,000; SER — T 30,000;

Th — T 50,000; B=X — T 20,000; TSR — T 20,000.
% fafiee & geasl @ ITfE el o fou sTawees Teemg=n gfafseat i | 4
A Ltd. purchased a running business from B Ltd. for a sum of
T 1,50,000 payable by issue of 10,000 equity shares of ¥ 10 each at a
premium of ¥ 2 per share and balance in cash. The assets and liabilities

taken over were :
Plant — ¥ 40,000; Building — ¥ 40,000; Debtors — ¥ 30,000;
Stock — T 50,000; Furniture — ¥ 20,000; Creditors — T 20,000.

You are required to pass necessary journal entries for the above
transactions in the books of A Ltd.

14. & fafee &1 9T T 10,00,000 1 3Tfespd St € g3 S T 10 YH 6
gaar 379 4 fawse off | S 3 50,000 730 o A & fow stee i
T | 48,000 3791 % TTQ TG 6 BW | |t A= TR AT A TS o I
Bl T8 haal 1,000 379N ol Brewt, A W T 2 afd 31w Y 31feqw e iy 78
faeft | 37 @t oreli @l Feq X o T den W1 § T 9,000 W YU Y& :
i s feam |

(i)  HEOT ATAFIE, 1956 i AR VI, HFT 1% ITTHR & THes o &afd
faawor & ‘=1 IS o fope wehR q@ifen Sam 2

(i) 3I9Yh o Q. @i & g o TR FHIT | 4
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rerv B arvy w28 of T 10 each. The company invited applications for the

issue of 50,000 shares. Applications for 48,000 shares were received. All
calls were made and were duly received except the final call of ¥ 2 per

share on 1,000 shares. All these shares were forfeited and later on
re-issued at ¥ 9,000 as fully paid.

1) Show how ‘Share Capital’ will appear in the Balance Sheet of
A Ltd. as per Schedule VI, Part I of the Companies Act, 1956.

(i1)  Also prepare ‘Notes to Accounts’ for the same.

15. 31, § G971 9 T BH § HATICR & 911 i ol HAYM: 5: 3 : 2% g9 § fawrioa
L 2 | 31 femrsw, 2012 1 I9em1 fearfa-faewo ffafaa o .

Teorfa-feremon 31 fewrar, 2012
T T

g RrI] 1,10,000
<} 3,00,000 | W& 2,00,000

9 2,50,000 | AR 3,00,000

T 1,50,000 | Theer 1,00,000
[SECACE 1,10,000 | 3TER 80,000
:ED 60,000 | Ths 80,000
8,70,000 8,70,000

1 TFH, 2013 I, AR o HROT 31 6T I &1 T8 | BH qAT 37 o 5IGhI h
He g GHEHIA1 3T foh 37 I ¢F G 1 YA TMd H T gmiel fefeheame™
fmtor & fora STTem | w9Eid % STHAN

() TG 1 Goamhd TUScl IR 961 & 379d oW & & T4 o SUe 8,
S : 2009 T 1,00,000; 2010 T 1,60,000; 2011 H T 1,80,000 T
20121 ¥ 2,00,000 ¥ |

(i) Ueg® H THeAd T 90,000; WAL W T 2,80,000 @
He &1 T 2,50,000 3T |
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o8 BTt Gh TR a7 20RBTR ST

ISt W 10% a1 X ¥ = T s |
31 & TIoqTesh i <F U gF @ | T & S |
(%) 3 % fIvaTeh I T B o I 31 Yot @rar dam Hifvw |
(@) Y H IR fopu T foreft T gew it ggE HIfT |
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A, B and C are partners in a firm sharing profits in the ratio of 5 : 3 : 2

respectively. Their Balance Sheet as on 315" December, 2012 was as

follows :
Balance Sheet as on 315t December, 2012

Liabilities Am;unt Assets Am;unt
Capitals : Patents 1,10,000

A 3,00,000 | Building 2,00,000

B 2,50,000 | Machinery 3,00,000

C 1,50,000 | Stock 1,00,000

Creditors 1,10,000 | Debtors 80,000
Reserves 60,000 | Cash 80,000
8,70,000 8,70,000

A died on 15t October, 2013, due to illness. It was agreed between the
firm and A’s executors that the amount due to A will be used for
construction of a Charitable Hospital in a village. As per the agreement :

(i)

(i1)

Begse Visit www ncer hel p. com For gAl |

Goodwill was
profits of last 4 years,

valued at

2 years’

which were

purchase of
2009 -

average

¥ 1,00,000;

2010 - ¥ 1,60,000; 2011 - ¥ 1,80,000 and 2012 — % 2,00,000.

Patents were revalued at ¥ 90,000; Machinery at ¥ 2,80,000 and
Building at ¥ 2,50,000.
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(iv) Interest on capital will be provided at 10% p.a.

(v)  Amount due to A’s executors will be transferred to Charity
account.

(a) Prepare A’s capital account to be presented to his executor.

(b) Identify any one value being highlighted in the question.

16. %, @ qA1 T TH BH H FECER ¥ | 1 I, 2012 H AR IS HE:
T 5,00,000; T 2,50,000 9T T 250,000 ff | EECH) H@ % WEYUMEl %

ITHN
() Tl T 5,000 Id ATE AT ITH T (HR AT |

(i) o ! Ufd a9 T 80,000 FHIIH I *T ISR o |

(iii)  HTSIERI I IS W 6% STk TS T 1 AIRR o |

(iv) ®TgIeR ol w1 doft srgura & feenfora 63 |

31 9T, 2013 ! THTE B It a9 1 g &9 T 3,00,000 T, Sreept faursH
39 TEEHI hl IH H W o SUeR-se K fean e | ot St feoofi
! T fo@ard gu, 39w o fOY STewes qurisH g 6y | 6

A, B and C were partners in a firm. On 15t April, 2012 their capitals
stood as ¥ 5,00,000; ¥ 2,50,000 and < 2,50,000 respectively. As per
provisions of the partnership deed :

(1) C was entitled for a salary of ¥ 5,000 per month.

(i1) A was entitled for a commission of ¥ 80,000 p.a.

(i1i) Partners were entitled to interest on capital @ 6% p.a

(iv)  Partners will share profits in the ratio of capitals.

Net profit for the year ended 31.03.2013 was ¥ 3,00,000 which was
distributed equally, without taking into consideration the above
provisions. Showing your workings clearly, pass necessary adjustment
entry for the above.
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wgﬁmﬁwﬁmwaa@ﬁmaquaaﬁaﬁ%ﬁﬁaﬁm
6 3 T M T T H GR ¢ < | 31 °HE, 2013 I Tew IR el w1

feyrfq-foawor fremgam o -
TethT auT siter ot feafa-feemor 31 v, 2013 &t
gfary ol o forw 3T 40,000 | Thg 1,00,000
i afagfd Ffa 56,000 | fafaer gaer 8,00,000
g I 30,000 | ¥i<h 2,00,000
R 3,00,000 | G 3,86,000
ECil ATH-BTH @ 40,000
T 5,00,000
fter 6,00,000 | 11,00,000
15,26,000 15,26,000
T i Fferfaa st W wd o yaw fean
(i) T U ISt o TR o 9 B T 4,00,000 SCT, Al 98 @AM
fore =18 off wfyr o7 & sreme o |

(i) T, Sier am T o sfie = ey faueH ST 302 180 |

(iii) U= &fagfd 1 T 30,000 T gET o |

(iv) T 40,000 i TRT ! gad T o foTw, Sfeifad hm o |

(v)  THFGRI ! T 20,000 1 AT T Foha T=T o1 |

(vi) 37ed =441 I T 12,000 Th AT B |

(vii) STITI 2T & fofT T 20,000 ¥ fohy M@ & |

(viii) H oh! EATd T oA T 1,80,000 R oham T 7 |

QeI GTdT, HIEIGRI Yol @Td q91 95 HH o1 TR fefd-foetor dan
HifST | Ty g fopet Tk qo I qgaE HINT S AEIGR 99 i qEiid
AT = 9 | 8

YT
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c samp! BAAFBAET QLT ARG <, Rk ST GRAHSA 1o 12
hid ¥ | o dg &l TA A qAT IToh HGE h! S@HTA i ITAT hig T8l o7 |
3d: I8 FIHU ! 9 hich 3Teh [dshd U ATH YUIRT bl Tsh TA.S.37. <l
gF H ol o HuE fon | 98 wSe. Rl & ° uyguw e % fag
FRIIU o Hd H e off | 31 S, 2014 Wi 3R feufa-faewo Frafafaa
a1 .

Teufa-feramor 31 s==dt, 2014

Sored af3t g qf3t
T 3
SR 65,000 | WIfr 1,20,000
g fam 35,000 | AN 65,000
IS eI 10,000
T 75,000 | T 25,000
vy 75,000 | GIGR 20,000
The 10,000
2,50,000 2,50,000

TH 4 TRl &1 YPIAE 15% B W ok qen v 4 ¢ fousi o1 QU e
fopa | TEafrl @ el 39 YN B8 : i € 20% HA; A " T 35,000;
hg ¥ 25% 9 AT ¢IEN & T 12,500 | I =¥ T 1,750 1 A 9H
ERcTIl

el @, @EeRl % YSft Wid qU1 S @idl dAR HINT | FTEerl g wu
! TEINT foret weh goar <l ggam ot hifs |
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limbs. On 1°* April, 2013 they admitted Gama, a good friend of Beta into

the partnership. Gama lost his one hand in an accident and Alfa and

Beta decided to give one artificial hand free of cost to Gama. The Balance

Sheet of Alfa and Beta as at 315 March, 2013 was as follows :

Balance Sheet of Alfa and Beta as at 315t March, 2013

A t A t
Liabilities T | Assets e
Provision for Doubtful 40,000 | Cash 1,00,000
Debts
Workmen’s
Compensation Fund 56,000 | Sundry Debtors 8,00,000
Outstanding Expenses 30,000 | Stock 2,00,000
Creditors 3,00,000 | Machinery 3,86,000
Capitals : Profit and Loss A/c 40,000
Alfa 5,00,000
Beta 6,00,000 | 11,00,000
15,26,000 15,26,000

Gama was admitted in the firm on the following terms :

(1) Gama will bring in ¥ 4,00,000 as his share of capital, but he was

unable to bring any amount for goodwill.

(i1))  The new profit sharing ratio between Alfa, Beta and Gama will be

3:2:1.
(iii)

(iv)

To write off bad debts amounted to ¥ 40,000.

(v)  Creditors were paid ¥ 20,000 more.

Begse Visit www ncer hel p.com Fori Al |

Claim on account of workmen compensation was I 30,000.
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(vi1) ] zu,uuu pe provided for an unforeseen liability.

(viii)) Goodwill of the firm was valued at ¥ 1,80,000.

Prepare Revaluation Account, Capital Accounts of Partners and the
opening Balance Sheet of the new firm. Also identify any one value which
the partners wanted to communicate to the society.

OR

Ram and Shyam were partners in a firm sharing profits in the ratio of
2 : 3 respectively. They become old and no one was there to look after
their business. Therefore, they decided to dissolve the business and
donate the amount available to an NGO who are providing service for
growing trees in urban areas to control pollution. On 315 January, 2014
their Balance Sheet was as follows :

Balance Sheet as on 315t J anuary, 2014
Liabilities Am;unt Assets Am;unt
Creditors 65,000 | Land 1,20,000
Bills Payable 35,000 | Machinery 65,000
Capitals : Goodwill 10,000

Ram 75,000 | Stock 25,000
Shyam 75,000 | Debtors 20,000
Cash 10,000

2,50,000 2,50,000

Ram paid the creditors at a discount of 15% and Shyam paid Bills
Payable in full. Assets realised as follows : Land at 20% less; Machinery
at ¥ 35,000; Stock at 25% less and Debtors at ¥ 12,500. Expenses on

realisation ¥ 1,750 were paid by Shyam.

Prepare Realisation Account, Partners’ Capital Accounts and Bank
Account. Also identify any one value which the partners communicated to
the society.
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z M%BE Sampl 3 el TRy S POM T S RbFEETHs, SEIAGET 1o 12
mqgﬂklwwm,wwm|3:T315ﬁW?:309ﬁ313Tﬁ9W
FreET RN ATH A2 g8 off 9o T 20 Wid 371 <l safaH A Tl St
A A& TS off | 91G H 37 M Hl T 70 WA I HI T H T 80 WG W
g fifea e femm e |
o fafies il geaent § ITE THeAl o TolT Tmaeseh Usm=n yfafeear
IS |

(@) ta fdafies 3 T 20 99 & 470 9ar 3N 1, e foima = 3 fa
W o fiftem w e mn o, Sed o form | 39 oA W T 8 ufd 3w
i fraed Uiyt (T 3 fiftem wfzq) qen = 5 gfa otwr it vom I iy
T YA T T8l BHT | T 5 Ufd 31 <l HAlqH Freqn Ui st A&l
Hit 775 oft | 39 ¥ 235 37T T T 19 Ul 37 & AW W IO T5d &9
ﬁ?:ﬁhﬁﬁ%Wl

ue foafieg it gashl § IWh SHeH & e Stavaes AsHm=n gfafseat
HIT | 4+4=8

HAAT

R fafids 3 T 100 9% % 10,000 THAT ;M H T 4 Ufd 3T & §3 W
fifia st o fotu o1raed smf=a fope | Tftt Fegam < oft -

ST W — T 20 Ufd 31

JEe W — T 30 Ufd 37

| T AfH =1 | — T 46 i 31
9,000 371 o T 3TTeIgA ITH U T |t STTaIGehi ol ST 1 ITee L fea
T | weft < ufiEd uTe g TE ke 400 A HI Bres g yug vd Af<m
IrEET R AR @ | T ST I Feqd L forn W | Hed fopu gu oo H 4,
300 37T I T 27,000 % YA W qUf Jed YH: it =t fezm m |
HT < JEdenl § 3TTawesh Usim=n gfafseat Sifs | 8
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< & per share. On these shares the first call of ¥ 30 per share was
not received and final call of ¥ 20 per share was not made.
Subsequently these shares were reissued at ¥ 70 per share ¥ 80
paid up.

Pass necessary journal entries for the above transactions in the

books of C Ltd.

(b) L Ltd. forfeited 470 equity shares of ¥ 20 each issues at a premium
of ¥ 3 per share for the non-payment of allotment money of ¥ 8
(including Premium < 3) and first call of ¥ 5 per share. Final call
of ¥ 5 per share was not made. Out of these 235 shares were
reissued at T 19 each fully paid.

Pass necessary journal entries for the above transactions in the

books of LL Litd.

OR

R Ltd. invited applications for issuing 10,000 equity shares of ¥ 100 each
at a discount of ¥ 4 per share. The amount was payable as follows :

On application — ¥ 20 per share

On allotment — ¥ 30 per share

On first and final call — ¥ 46 per share
Applications were received for 9,000 shares and allotment was made to

all the applicants. All amounts due were received except the first and

final call on 400 shares. These shares were forfeited. Out of the forfeited
shares, 300 shares were reissued at a payment of ¥ 27,000 fully paid up.

Pass necessary journal entries in the books of the company.
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PART B

(Financial Statements Analysis)

19. RU Gigd 9dEU fo Uehg YaTg foemor R d 999 Wb Afia & fdshdr i
TR0 & T % fT T 50,000 % 9% Foa fifid & &1 = iy gem
— Uh3S I Iqdig, digdig 1G] his T8 T8l ? 1

State with reason whether the issue of 9% debentures to a vendor for the
purchase of machinery of ¥ 50,000 will result in inflow, outflow or no

flow of cash while preparing Cash Flow Statement.

20. fofia faawon & favawor & {5l s 32w 1 3g@ FifvT | 1

State any one objective of analysis of financial statements.

21. Uhg JdTE IR0 GIR id HHI Uehg 1 dfgaig ¥ 1 TR Bidl § 2 1
What is meant by outflow of cash while preparing Cash Flow Statement ?

22. & fufEm, 1956 I dfEnfyd @Reft VI 9W 1% IHER HE

feurfa-foeto # ffaRea ¢ fora g 3fides o =i quils ST 3
(i)  CreeeTela o
(i) SIUR gIamd

(iii) o o fOTU STRISE
(iv)  Sfavfa Shifem a=
(v) UdH

~

(vi) 3I9IRld 3T
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sheet of a company as per rev1sed Schedule VI Part I of
the Companies Act, 1956 :

) Long Term borrowings

(i)  Trade Payables

(1i1) Provision for tax

(iv)  Securities Premium Reserve
(v)  Patents

(vi)  Accrued Incomes

23. Tfafad @ ‘Aod @9 U@ den FrRiEfA YN TEd AU ohl IO

I 4
ahr (F)

e ¥ A 30,00,000

T ¥ 3T I AT 20,00,000

=], FedfeEt 6,00,000

=Te] Ty 2,00,000

YT TR S 5,00,000

From the following calculate the ‘Gross Profit Ratio’ and ‘Working
Capital Turnover Ratio’ :

Amount ()
Revenue from operations 30,00,000
Cost of Revenue from operations 20,00,000
Current Assets 6,00,000
Current Liabilities 2,00,000
Paid up share capital 5,00,000
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fygm 31.03.2013 | 31.03.2012
3 3
ST | A 20,00,000 | 25,00,000
FHHA e 5,00,000 |  6,00,000
A = 1,00,000 | 1,50,000
sl el 50% 50%

Al RT Sol uti ops,
,'%%d%%%%s§6to 12
4

From the following particulars of Jee Ltd. for the years ended on

315t March, 2012 and 2013, prepare a Comparative Statement of Profit

and Loss :

. Note |31.03.2013 | 31.03.2012

Particulars
No. < ke

Revenue from operations 20,00,000 | 25,00,000
Employees’ Benefit Expenses 5,00,000 6,00,000
Other Expenses 1,00,000 1,50,000
Tax Rate 50% 50%
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qre 31.3.2013 31.3.2012
[EELY e T T
I — THAT 9T AT :
1. | stwremd fAfer:
(1) T gt 6,30,000 5,60,000
(9) |99 T AT 1 3,08,000 1,82,000
2. | =ITe] g ¢
ST SIdaTd 2,80,000 1,82,000
Bl 12,18,000 9,24,000
II - gfeera it
1. | o<t i@t
T g T
I 3,92,000 2,80,000
2. %ITFLWﬁ'HTQﬁ?ﬁ':
(31) Ty 98,000 1,40,000
(9) =T STt 6,30,000 4,20,000
(|) g qdT UhS oo 98,000 84,000
Bl 12,18,000 9,24,000
@Al & AeH
e T 1
Al 31.3.2013 | 31.3.2012
T T
g U i
e (em-a R 5 3) 3,08,000 | 1,82,000
STaRE T :

1)
&= |
(i1)

T4 o QI A Sl BT ekt T 28,000 o |
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Note | 31.3.2013 31.3.2012
Particulars No. F F
I - Equity and Liabilities :
1. | Shareholder’s Fund :
(a) Share Capital 6,30,000 5,60,000
(b) Reserves and Surplus 1 3,08,000 1,82,000
2. | Current Liabilities :
Trade Payables 2,80,000 1,82,000
Total 12,18,000 9,24,000
II - Assets :
1. | Non-Current Assets :
Fixed Assets :
Plant 3,92,000 2,80,000
2. | Current Assets :
(a) Inventories 98,000 1,40,000
(b) Trade Receivables 6,30,000 4,20,000
(c) Cash and Cash Equivalents 98,000 84,000
Total 12,18,000 9,24,000
Notes to Accounts
Note No. 1
Particulars 31.3.2013 | 31.3.2012
3T <
gs:;zze(%ZEicselﬁp Sl’:.lastement of Profit and Loss) 3,08,000 | 1,82,000

Additional Information :

(1) An old machinery having book value of ¥ 42,000 was sold for
T 56,000.

(i1)  Depreciation provided on machinery during the year was ¥ 28,000.
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19.

20.

21.

22,

23.

24.

(stfrenfers TrEie)

PART C

(Computerised Accounting)

foregl @ faferml =1 GfT & wreht (Fedl) o= <l ST |ehdl! 2 | 1

Give any two ways in which a query can be created.

HTHT=RT0T T 3 2 1

What is normalisation ?

AT TG YT b Tohtt Weh 1Y T 3@ shifeT | 1

State any one advantage of Computerised Accounting System.

MRl i@ JUITelt & STATYCT (Thalfaferdl) aen foavamaan @eor =
guesy | 3

Explain Scalability and Reliability features of Computerised Accounting
System.

Teh G hl TEEAT | G| 1 FTTEHIT L It HeHl Bl 3T HIWT | 4

State the steps to validate data with a formula.

JTRSI-3MIR. (STEeH) & el o €4 o GROEN, Tepfaat, fdaeAr qon
T (I i THATSY | 4

Explain Tables, Forms, Reports and Macros as database objects.
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(@) fmfaieaa @ﬂdlﬁquﬂW%WﬂﬁﬁW%ﬂlﬁﬁW
i
A 9a4 T 15,000 Toh 10% i G & qAT 306 HW 15% 1 @ H | 4+2=6

(a) Name and explain the function of spreadsheet which calculates the
accrued interest for security that pays periodic interest.

(b)  Calculate the formula from the following information on Excel for
computing House Rent Allowance :

Basic Salary upto ¥ 15,000 at 10% and above it at 15%.
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